WS #A-7
Problem Solving

The steps for solving an applied problem are:
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1. Candy has $70,000 to invest and requires an overall rate of 9%. She can invest in a safe, governmenldl-

insured certificate of deposit, but it only pays 8%. To obtain 9%, she agrees to invest some of her
money in noninsured corporate bonds paying 12%. How much should be placed in each investment to
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2. The manager of a Starbucks store decides to expenment t'With 4 new band of coffee She will mix some
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B grade Colombian coffee that sells for $5 per pound with some A grade Arabic coffee that sells for $10
per pound to get 100 pounds of the new blend. The selling price of the new blend is to be $7 per pound,
and there is to be no difference in revenue from the selling the new blend versus selling the other types.
How many pounds of the B grade Colombian and A grade Arabic coffees are required?

3. Tanya, who is a long-distance runner, runs at an average velocity of 8 mph. Two hours after Tanya
_ leaves her house, you leave in your Honda and follow the same route. - If your average velociy is 40
mph, how long will it be before you catch up to Tanya? How far will each of you be from home? ..
4. A motorboat heads up stream a distance of 24 miles on the Illinois River, whose current is running at

3 mph. The trip up and back takes 6 hours. Assuming that the boat maintained a constant speed relative
to the water, what was the speed?

3. At 10:00 AM Danny is asked by his father to weed the garden. From past experience, Danny knows that
this will take him 4 hours, working alone. His older brother mike, when it is his turn to do the job
requires 6 hours. Since Mike wants to go golfing with Danny and has a reservation at 1:00 PM, he
agrees to help Danny. Assuming no gain or loss of efficiency, when will they finish if they work
together? Can they make the golf date?
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6. From each corner of a square piece of sheet metal, remove a square 9 centnmeters Tum up the edges

and for an open box. If the box is to hold 144 cubic centimeters, what should be the dimensions of the
piece of sheet metal?



u)s /I 7 (Pfc

2y X =#H o\ (ks o L
00 - % =o i of lb
Pﬁ" lﬁ o f rb e Fﬁ{€ [\ :'1‘\'[!34“)

i #

SX ~+ KD{‘.DD"}("'

71 A

lzﬂ.; 0{ ’ Aﬁo% 6{ ,
B a1 A arsvt

g

i
S5 X v oo — o =

~Tx 4o = 700

oy o ) .
© \} ~L A &hwrer{‘ Gl b bl }-

b g
4,
(o (\t“’('* L‘é oo - L&D =

\J

e e B N s 1

: 7!} -
Yo les

i P ) L F
Collere o el e pes:

— oot ke ’“)“"-%, 5*7‘w*£v:).m

,"1::9&)5/14? 3 e £

J
~

IA&F CO/OMb An ‘"%((ff

> '( A qrave Arabie

Price pvr\n o‘ bler~w

*

i

i/!

b5
o !( Ll

6‘\.
v
f»

7{'_1{9\

R

¥

oY

\ £ %w@/m howes!

{ "‘“““"‘*2—»\‘/- ‘;;t Oé—“{pﬂ\e‘
@a 4

ot

T»Vz sh? ¢ ’J i

x

o

Al

to, i

t --"‘-?

)

442 = Yot

ff}’ s T Lf'{) ( ”;\}7’
c Tt will fake e Woazg A f we

Yo Taa YA Tatk ol waae

@ e O

t+2
-

32

¢ =6
dea catr A {*n

aheimvs o

A =i \ﬂ Lak:t

&2 Y
‘;f e 2T i £ DY A O

‘6(45qu 2
Fobot

A :

.
—}

¥

S A ? ) 5.;“.

,,,,,,



L1 /> ﬂm{’ = WE,}:;,(@’E{,{:, AV Co/\ﬁ“(«v\)'h 5‘33,% 03}. e MDH i:)cmi
\fe,loc.1+7 reladive Jo wades

Hoe spece upsteens = (173w fine

‘)"fwe SPQ&L‘? fonpe e fﬁ:a“w;&a—:\- - /\}4 3.2\: - {}mgv

S eloc vy

Neloci £y (mife) | Distamce (mi) | Time (n0)
W p":ﬁ.s & A s N~ 3 QL] VDT
e Q- B

Veon Shreas

&b

704',4{ ‘J/IM’C “p o b/\tk
- {

24+ 3t
V-3 V3

A ladierfv-3) =6 LA
| 7=a

(r3y-3) ?
HQEu= b - M

=2 i\ M8y = b (%)

> The 5P€,CI> & “We molocbo ,;;’I.——ﬁ,

ie %‘o}-‘(g»ic \LQ ‘4‘1«2 A A)(“’Q f '

s 9 mi/hr N TR

neq S {)é’@p



4 CO/L%/!ME;’? A. i /Pf{)% f./'/\ glr,ig}.r

\g‘v\l wars e QAJJ* fa%

‘70 ‘“3{’1»{ ° Q;‘c\j

Denny | H .

Mwe a =

P

19@.‘ (’Mf\ | A
¢ Yol {; e

Loos keds

anr ':.a:é e §

e T AT S8 Sk

PMJ{ Vore Y\( b"“"y R + F/H !71106 37{ /i o

tf-

o

wDSV\!ACT \,}C 1/\4'3{ \'7/%‘,\(,\/
4 (o i ")‘“ Q\}H hfs 27 l} “v-agmj

AR

. f ""\; K,(' £ B,

e
a Ty

f.—s a2 j b ¥§‘i O E)

pux Lpe®

Par+ Lonf
4—9}\(’*;* el i

1 e

k=0 Fg

) e Lj M ﬂw'&"é‘" : TL\U.S}

B T

M Show r> ok bt WQ ,4)51 ’2143!'( :,\,\({{ if’imz w&z ot il

L\\/\\)\SS}V\ /:7( ‘ V@(,' “ a4 E)ﬂ‘f(\

( Q\I@\r >

i
—



A
(7(—\9\ K€
“J‘.,_Q,gm

*"\(“‘:

o The pimen s

;‘\aﬁ.‘"z A ; 1S

i T

A% cm ¥ 23 Cn |
1

w2
A | i

Lc/\qu VTR i R < :’Amo‘fz\‘a

(_X“"K ')( x
61 (f{ - S? * - s , v

>

Nttt AR A

(1 b/c’
(x-18)

-t a4

\(‘1\“ Y

{

fﬁ /DLA ’f“"b I(\,?f)

T
/ T {ﬂ\A-\JC
A Sipe [eastl
ra



